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- Respiration: Respiration is the body's way of producing
energy from the food we eat. It involves the breakdown of
glucose in the presence of oxygen into carbon dioxide and
water with the release of energygenerating molecules
called ATP.

- Photosynthesis:is a chemical reaction that takes place
in the chloroplasts of green plant cells, where light energy
is used to convert carbon dioxide and water into glucose
and oxygen.

- Energy: Theability to do work

- Limiting factors: Limiting factors affect the rate of a
reaction. A limiting factor is a condition, that when in
shortage, slows down the rate of a reaction.

- Reaction: A chemical reaction is when

one or more substances change and

produce one or more new chemical g
substances. R

Respiration and photosynthesis are

I
| chemi cal processes that provide plants
| and animals with energy.
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| The Earth's atmosphere is made of | : - Atmosphere: An quosphere is the layers I
di fferent gases. | | of gases surrounding a planet. I

- Pollutants: A pollutant is a chemical. or
| biologi cal substance which harms water, air‘,I
| or land quality. I
- Climate change: Climate change refers to I
long-term shifts in temperatures and I
weather patterns. :
I
I
I
I
I
I

| The Proportion of gases in the |
|earths atmosphere

NITROGLN: 787

- Combustion: Combustion isanother name
for burning. In a combustion reaction, fuel
is burned and reacts with oxygen fo release
energy.

- Global Warming: Global warming isthe
long-term warming of the planet's overall

- temperature.

" History of the earths
atmosphere

*The proportion of oxygen increased
because of photosynthesis by plants and
algae.

*The proportion of ammonia decreased as it
reacted with the newly formed oxygen in
the atmosphere to form nitrogen and water
vapour.
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Greenhouse gases present in the atmosphere
include:

* water vapour

* carbon dioxide
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Propane + oxygen — carbon monoxide +
I carbon + water
C3Hg + 30, — 2CO + C + 4H,0

reacted with the newly formed oxygen to * methane
form carbon dioxide and water. Ir— __________________________________
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| Waves fransfer energy,

|
I_NOT matter.

the whole topic,
consisting of slides,

| videos, and quizzes

: Trilogy pupils ignore
| tasks 5,6 & 7.

[T ===
| Transverse v itudinal
I - . : - - L] e e
I II,-'T'-. II.-"‘-, ,-"‘-.II

1 | ! i M
I A IIII IIl Illl < III - |; -
I \ / 1 \
I ol = et
: Vibrations are perpendicular to
I the direction of energy transfer
I e Longitudinal Wave
I vompresio Co 'I‘I :.1 ) P
| S
I on u'»‘n.‘r!»"r‘_qtr:

| Vibrations are parallel to the
__direction of energy transfer

Wave speed = distance / time
v=s/t

v=Axf

Time Period = 1 / frequency

I
I
I
: Wave speed = wavelength x frequency
I
I
I T=1/f

I
Wave - a disturbance/vibration in matter, which :
transfers the energy through the matter. I
Energy - a property of a substance that is stored or

transferredin order for things o be done. |
Transverse - vibrations are perpendicular (at right I
angles) to the direction of energy transfer. I
Longitudinal - vibrations are parallel (same direction) |
to the direction of energy transfer. I

Waves in a liquid
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Waves in a solid
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Law of reflection
The angle of incidence =
the angle of reflection
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Mirror

Angle of
Refiection

Re ion

The change in direction
and speed of light, due
to passing from one
medium into a

di fferent medium, of

di fferent densities
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How do 100 elements make u . . ) )
hi . h . 5 P || Electron - a subatomic particle with a negative
| everythingin the universe: | charge

I
I
I
I_ - - | | Electrostaticattraction - strong attraction |
I M I between oppositely charged ions |
Anion is an charged particle. I Weak intermolecular forces - force of attraction I
Atoms will lose or gain electrons to get a full I between atoms, elements and molecules I
I I

I I

I
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I Delocalised electron - free moving electron that
I

I

outer shell.

The metal atom loses electrons to become a isn’ta part of any atom

positive ion lon — a charged particle

The non-metal atom gains electrons to become I e e e I e e R o e e S
a negative ion. Tonic bonds II
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: Torater o lonic bonds are formed between metals|c
| . nonmetals. Metallose electrons andon- |
| metalsgain electrons. The oppositely |
| charged ions attract one another forming
I

I

I

I

ionic bond.
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| Zonic compounds and properties
I

| Positive and negative ions
| join togetherto forma s
| giantionic lattice

| J Thomson-Suggested
|| theplum pudding modék:
I| Atoms were a ball of
I| positive charge with
I negative particles

| scattered within.

electrostatic attraction
is strong
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lonic compounds have a
high M.P
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| Lots of energy needed
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| Ernest Rutherford Alphz g5
|, scattering experiment.
|I Found that atoms has ¢
lonic compoundson’tconduct when |} very small, positive 7
solidbecause the ions are locked inI| nucleus and the majority
position. When molten or dissolved thkatoms are empty

ions are free to move and can condyktspace.

to overcome attraction




